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Show all work for credit.  Use dimensional analysis for calculation problems
NA = 6.022 x 1023/mol, PV=nRT, R=0.0821 L atm/mol K=62.4 L torr/mol K
760 torr = 760 mm Hg = 1.00 atm = 101 kPa = 14.7 psi = 29.9 in Hg, K = oC+273.16
1. (4 points) Explain how a glass of water evaporates using the concept of vapor pressure. 
2. (4 points) A sealed container with sulfur dioxide, sulfur trioxide and oxygen gases is at 825oC and 1 atm.  If the partial pressure of sulfur dioxide is 150 mm Hg and sulfur trioxide is 475 mm Hg, what is the partial pressure of oxygen in mm Hg?

3. (3 points) Draw the Lewis Electron Dot symbol for the element of boron.
4. (3 points) What does the octet rule tell us?

5. (6 points) Draw a reasonable Lewis Electron Dot structure for SO3.  The sulfur atom is in the center of the molecule.







